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PERCENTAGE

[ izfr'kr ]
1. If 50% of (x – y) = 30% of (x + y), then what

percent  of x is y ?

;fn (x – y) dk 50% = (x + y) dk 30% gS] y, x dk
fdruk izfr'kr gS ?

(a) 25% (b) 33
1

3
%

(c) 40% (d) 400%
2. If 50% of P = 25% of Q, then P = x% of Q.

Find x ?

;fn P dk 50% = Q dj 25% gS] rks P = Q dk x% gS]
rks x dk eku Kkr djsa ?
(a) 0.5 (b) 2
(c) 50 (d) 0.005

3. If 20% of A = 50% of B, then what percent of
A is B ?

;fn A dk 20% = B dk 50% gS] rks A dk fdruk izfr'kr
B gS ?
(a)  30% (b) 40%
(c) 25% (d) 15%

4. 18% of which number is equal to 12% of 75
?

fdl la[;k dk 18%, 75 ds 12% ds cjkcj gksxk ?
(a)  50 (b) 100

(c) 2 (d) 
3

2

5. If the income of Ram is 12½% more than that
of Shyam, the income of Shyam is less tha
that of Ram by ?

;fn jke dh vk;] ';ke ls 12½% vf/d gS] rks ';ke dh
vk; jke dh vk; ls fdrus izfr'kr gS ?

(a) 11
1

9
% (b) 12

1

8
%

(c) 9
1

11
% (d) 11

1

11
%

6. If 80% of A = 50% of B and B = x% of A, then
the value of x is ?

;fn dk 80% = B dk 50% gS vkSj B = A dk x% gS] rks
x dk eku Kkr djsa \
(a) 400 (b) 300
(c) 160 (d) 150

7. If x is 80% of y, what percent of x is y ?

;fn y dk 80%, x gS] rks x dk fdruk izfr'kr y gS \
(a) 75% (b) 80%
(c) 100% (d) 125%

8. If 8% of x is the same as 4% of y, then 20% of
x is the same as ?

;fn x dk 8%, y ds 4% ds cjkcj gS] rks x dk 20%

fdlds cjkcj gksxk ?

(a) 10% of y (b) 16% of y
(c) 80% of y (d) 50% of y

9. If 120 is 20% of a number, then 120% of that
number will be ?

fdlh la[;k dk 20%, 120 gS] rks ml la[;k dk 120%

fdruk gksxk ?
(a) 20 (b) 120
(c) 480 (d) 720

10. If x is less than y by 25% then y exceeds x by
?

;fn x, y ls 25% NksVk gS rks y, x ls fdruk vf/d gS  ?

(a) 33
1

3
% (b) 25%

(c) 75% (d) 66
2

3
%

11. If P% of P is 36, then P is equal to ?

;fn P dk P%, 36 gS] rks P fdlds cjkcj gS ?
(a) 3600 (b) 600
(c) 60 (d) 15

12. 2 is what percent of 50 ?

2, 50 dk fdruk izfr'kr gS ?
(a) 2% (b) 2.5%
(c) 4% (d) 5%

13.
2

3
 is what percent of 

1

3
 ?

1

3
 dk fdruk izfr'kr 

2

3
 gS ?

(a) 50% (b) 33
1

3
%

(c) 150% (d) 200%
14. If 10% of m is the same as 20% of n, then m

: n is equal to ?
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;fn m dk 10%, n ds 20% ds cjkcj gS] rks m : n dk
eku D;k gksxk ?

(a) 2 : 1 (b) 1 : 2
(c) 1 : 10 (d) 1 : 20

15. The ratio 5 : 4 expressed as a percent equals?

5 : 4 ds vuqikr dks izfr'kr esa fdruk fy[kk tk,xk ?
(a) 125% (b) 80%
(c) 40% (d) 12.5%

16. 0.15% of 33
1

3
% of Rs. 10,000 is ?

:i;s 10,000 ds 33
1

3
% dk 0.15% fdruk gksxk ?

(a) Rs. 5 (b) Rs. 150
(c) Rs. 0.05 (d) Rs. 105

17. 30% of x is 72. The value of x is ?

x dk 30%, 72 gS] rks x dk eku Kkr djsa ?
(a) 216 (b) 240
(c) 480 (d) 640

18. If 15% of (A + B) = 25% of (A – B), then what
percent of B is equal to A ?

(A + B) dk 15% = (A – B) dk 25% gS] rks B dk
fdruk izfr'kr A ds cjkcj gksxk ?
(a) 10% (b) 60%
(c) 200% (d) 400%

19. What is 20% of 25% of 300 ?

300 ds 25% dk 20% fdruk gksxk ?
(a) 150 (b) 60
(c) 45 (d) 15

20. If x% of 
25

2
 is 150, then the value of x is ?

;fn 
25

2
 dk x%, 150 gS] rks x dk eku Kkr djsa ?

(a) 1000 (b) 1200
(c) 1400 (d) 1500

21. X's income is 20% more than that of Y. What
percent is Y's income less than X ?

X dh vk; Y ls 20% vf/d gS] rks Y dh vk; X ;s fdrus
izfr'kr de gS ?

(a) 83
1

3
% (b) 16

2

3
%

(c) 83
2

3
% (d) 16

1

3
%

22. The time duration of 1 hour 45 minutes is
what percent of a day ?

1 ?kaVk 45 feuV ,d fnu dk fdruk izfr'kr gS ?
(a) 7.218% (b) 7.291%
(c) 8.3% (d) 8.24%

23. Which number is 40% less than 90% of 100
?

dkSu lh la[;k 100 ds 90% ls 40% de gksxh ?
(a) 36 (b) 54
(c) 50 (d) 60

24. If 30% of A = 0.25 of B = 
1

5
 of C, then A : B :

C is equal to ?

;fn A dk 30% = B dk 0.25 = C dk 
1

5
 gS] rks A : B

: C fdlds cjkcj gS ?
(a) 5 : 6 : 4 (b) 5 : 24 : 5
(c) 6 : 5 : 4 (d) 10 : 12 : 15

25. 0.01 is what percent of 0.1 ?

0.1 dk fdruk izfr'kr 0.01 gS ?

(a) 10% (b) 
1

10
%

(c) 100% (d) 
1

100
%

26. The difference of two numbers is 15% of their
sum, the ratio of the larger number to the
smaller number is ?

nks la[;kvksa dk varj] muds ;ksx dk 15% gS] rks cM+h la[;k
rFkk NksVh la[;k dk vuqikr Kkr djsa ?
(a) 23 : 17 (b) 11 : 9
(c) 17 : 11 (d) 23 : 11

27. P is six times as large as Q, The percent that
Q is less than P, is ?

P, Q ls 6 xquk cM+k gS] rks Q, P ls fdruk izfr'kr NksVk gS
?

(a) 83
1

3
% (b)70%

(c) 63
1

3
% (d) 50%

28. 65 gram is what percent of 2 kg. ?

65 xzke 2 fdyksxzke dk fdrus izfr'kr gS ?

(a) 
13

4
% (b) 

65

2
%

(c) 
15

8
% (d) 

13

8
%

29. Half of 1 percent, written as a decimal, is ?

1% dk vk/k n'keyo esa fdl izdkj fy[kk tk,xk ?

(a) 0.2 (b) 0.02
(c) 0.005 (d) 0.05

30. The time duration of 2 hour 45 minutes is
what percent of day ?

2 ?kaVk 45 feuV dk le;] ,d fnu dk fdruk izfr'kr gS
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(a) 7.218% (b) 11.45%
(c) 8.3% (d) 8.24%

31. 1.14 expressed as a percent of 1.9 is ?

1.9 fdruk izfr'kr 1.14 gS ?
(a) 6% (b) 10%
(c) 60% (d) 90%

32. 0.001 is equivalent to ?

0.001 fdlds cjkcj gS ?
(a) 10% (b) 1%
(c) 0.01% (d) 0.1%

33. If 60% of A = 
3

4
 of B, then A : B is ?

;fn A dk 60% = B dk 
3

4
 gS rks A : B = ?

(a) 9 : 20 (b) 20 : 9
(c) 4 : 5 (d) 5 : 4

34. If 30% of (B – A) = 18% of (B + A), then the
ratio A : B is equal to ?

;fn (B – A) dk 30% = ( B + A) dk 18% gS] rks A :

B dk vuqikr D;k gS ?
(a) 4 : 1 (b) 1 : 4
(c) 5 : 4 (d) 5 : 9

35. 32 is what percent of 80 ?

80 dk fdruk izfr'kr 32 gS ?
(a) 24% (b) 25.6%
(c) 36% (d) 40%

36. If 90% of A = 30% of B and B is x% of A, then
the value of x is ?

;fn A dk 90% = B dk 30% vkSj B, A dk x% gS] rks
x dk eku Kkr djsa ?
(a) 800 (b) 300
(c) 700 (d) 400

37. If 90% of A = 30% of B and B = 2x% of A,
then the value of x is ?

;fn A dk 90% = B dk 30% vkSj B = A dk 2x% gS]
rks x dk eku Kkr djsa ?
(a) 450 (b) 400
(c) 300 (d) 150

38. One third of 1206 is what percent of 134 ?

1206 dj ,d&frgkbZ] 134 dk fdrus izfr'kr gS  ?
(a) 100% (b) 150%
(c) 200% (d) 300%

39. If 120% of a is equal to 80% of b, then 
b a

b a





is equal to ?

;fn a dk 120%, b ds 80% ds cjkcj gS] rks 
b a

b a





fdlds cjkcj gS ?

(a) 5 (b) 6
(c) 7 (d) 8

40. If 20% of (A + B) = 50% of B, then value of

2A B

2A B




 is ?

;fn (A + B) dk 20% = B dk 50% gS] rks 
2A B

2A B




 dk

eku D;k gksxk ?

(a) 
1

2
(b) 

1

3

(c) 
1

4
(d) 1

41. If 40% of (A + B) = 60% of (A – B) then 
2A 3B

A B





is ?

;fn (A + B) dk 40% = (A – B) dk 60% gS] rks

2A 3B

A B




 fdlds cjkcj gksxk ?

(a) 
7

6
(b) 

6

7

(c) 
5

6
(d) 

6

5

42. What percent of 3.5 kg. is 72 gms. ?

3.6 fdyksxzke dk fdruk izfr'kr 72 xzke gS ?
(a) 32% (b) 22% (c) 12%( d )
2%

43. If 125% of x is 100, then x is ?

;fn x dk 125%, 100 gS] rks x = ?

(a) 80 (b) 180
(c) 400 (d) 125

44. If 50% of (P – Q) = 30% of (P + Q) and Q = x%
of P, then the value of x is ?

(P – Q) dk 5% = (P + Q) dk 30% rFkk Q = P dk
x% gS] rks x dk eku Kkr djsa ?
(a) 30 (b) 25
(c) 20 (d) 50

45. 25% of 120 + 40% of 380 = ? of 637 ?

120 dk 25% + 380 dk 40% = ? 637 dk fdruk Hkkx
gksxk ?

(a) 
2

7
(b) 

1

7

(c) 
4

7
(d) 

3

7

46. What is 27% of 36% of 
5

9
 of 4500 ?



 BRANCH :  MUKHERJEE NAGAR DELHI / NATHU PURA DELHI / SHAHDARA DELHI / SIKANDRABAD

M o b .  :  0 9 7 1 1 3 7 6 0 0 7,  0 8 3 6 8 1 0 8 2 7 6 [ 6 ]

THATHAGAT

IN
STITUTE

4500 ds 
5

9
 ds 36% dk 27% D;k gS ?

(a) 239 (b) 241
(c) 243 (d) 245

47. 1% of 1% of 25% of 1000 is ?

1000 ds 25% ds 1% dk 1% fdruk gksxk ?

(a) 0.025 (b) 0.0025
(c) 0.25 (d) 0.000025

48. If 8% of x = 4% of y, then 20% of x is ?

;fn x dk 8% = y dk 4% gS] rks x dk 20% D;k gksxk ?
(a) 10% of y (b) 16% of y
(c) 40% of y (d) 80% of y

49. If 60% of A = 30% of B, B = 40% of C and C =
x% of A, then value of x is ?

;fn A dk 60% = B dk 30% gS] B = C dk 40% vkSj
C = A dk x% gS] rks x dk eku gS ?
(a) 800 (b) 200
(c) 300 (d) 500

50. If 20% of A = 30% of B = 
1

6
 of C, then A : B :

C is ?

;fn A dk 20% = B dk 30% = C dk 
1

6
 gS] rks A : B

: C = ?
(a) 2 : 3 : 16 (b) 3 : 2 : 16
(c) 10 : 15 : 18 (d) 15 : 10 : 18

51. If 50% of x = 30% y, then x : y is ?

;fn x dk 50% = 30% y rks x : y D;k gksxk ?

(a) 2 : 3 (b) 3 : 2
(c) 5 : 3 (d) 3 : 5

52. If 80% of a number added to 80 gives the
result as the number itself, then the number
is ?

;fn fdlh la[;k ds 80% esa 80 tksM+k tkrk gS] rks izkIr
ifj.kke la[;k ds cjkcj gS] rks la[;k D;k gS ?
(a) 200 (b) 300
(c) 400 (d) 500

53. A person who spends 66
2

6
% of his income is

able to save Rs. 1200 per month. His
monthly expenses (in Rs.) is ?

,d O;fDr viuh vk; dk 66
2

6
% [kpZ djds :i;s

1200 efld cpr djrk gS] rks mldk ekfld [kpZ (:i;s
esa) D;k gS  ?
(a) 1,200 (b) 2,400
(c) 3,000 (d) 3,200

54. The income of C is 20% more than B's ad

the income of B is 25% more than A's. Find
by how much percent is C's income more
than A's ?

C dh vk;] B ls 20% vf/d gS vkSj B dh vk;] A ls
25% vfèkd gS] rks C dh vk;] A ls fdrus izfr'kr vf/
d gS ?
(a) 150% (b) 50%
(c) 25% (d) 35%

55. If A exceeds B by 40%, B is less than C by
20%, then A : C is ?

;fn A, B ls 40% vf/d gS vkSj B, C ls 20% de gS]
rks A : C D;k gksxk ?
(a) 28 : 25 (b) 26 : 25
(c) 14 : 27 (d) 27 : 14

56. In a school 70% of the students are girls.
The number of boys are 510. Then the total
number of students in the school is ?

,d fo|ky; esa 70% fo|kFkhZ yM+fd;k¡ gSA yM+dksa dh la[;k
510 gS] rks Ldwy esa dqy fdrus fo|kFkhZ gSa ?
(a) 850 (b) 1700
(c) 1830 (d) 1900

57. If 60% of the students by a school are boys
and the number of girls is 972, how many
boys are there in the school ?

;fn fo|ky; esa 60% Nk=k yM+ds gS rFkk yM+fd;ksa dh la[;k
972 gS] rks fo|ky; esa fdrus yM+ds gSa ?
(a) 1258 (b) 1458
(c) 1324 (d) 1624

58. When 60 is subtracted from 60% of a
number, the result is 60. The number is ?

fdlh la[;k ds 60% esa ls 60 ?kVkus ij ifj.kke 60 vkrk
gS] rks la[;k D;k gS ?
(a) 120 (b) 150
(c) 180 (d) 200

59. When 75% of a number is added to 75, the
result is the same number. Find the
number ?

fdlh la[;k ds 75% esa tc 75 tksM+k tkrk gS] ifj.kke ogh
la[;k vkrh gSA rks la[;k Kkr djsa ?
(a) 225 (b) 270
(c) 300 (d) 325

60. The difference of two numbers is 20% of the
larger number. If the smaller number is 20.
The larger number is ?

nks la[;kvksa dk varj cM+h la[;k dk 20% gSA ;fn NksVh
la[;k 20 gS] rks cM+h la[;k Kkr djsa ?
(a) 25 (b) 45
(c) 50 (d) 80

61. If A's income is 40% less than that of B, how
much percent B's income is more than that
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of A ?

;fn A dh vk;] B ls 40% de gS] rks B dh vk;] A ls
fdrus izfr'kr vf/d gS ?
(a) 60% (b) 40%
(c) 66.66% (d) 33.33%

62. Two numbers are respectively 20% and 50%
of a third number. What percent is the first
number of the second ?

nks la[;k,¡ rhljh la[;k dh Øe'k% 20% rFkk 50% gS] rks
igyh la[;k nwljh la[;k dk fdruk izfr'kr gS ?
(a) 10% (b) 20%
(c) 30% (d) 40%

63. Two number are respectively 25% and 20%
less than a third number. What percent is
the first numer of the second ?

nks la[;k,¡ rhljh la[;k ls Øe'k% 25% rFkk 20% de gS]
rks igyh la[;k] nwljh la[;k dk fdruk izfr'kr gS ?

(a) 83
3

4
% (b) 92

4

5
%

(c) 80
2

3
% (d) 93

3

4
%

64. If a number x is 10% less than another
number y and y is 10% more than 125, then
x is equal to ?

;fn la[;k x nwljh la[;k y ls 10% de gS vkSj y, 125 ls
10% vfèkd gS] rks x fdlds cjkcj gS ?
(a) 150 (b) 143
(c) 140.55 (d) 123.75

65. If 70% of the students in a school are boys
and the number of girls be 504, the number
of boys is ?

,d fo|ky; esa 70% Nk=k yM+ds gSa rFkk yM+fd;ksa dh la[;k
504 gS] rks yM+dksa dh la[;k Kkr djsa ?

(a) 1176 (b) 1008
(c) 1208 (d) 3024

66. Two numbers are more than the third
number by 20% and 50% respectively. Find
the first number is what percent of the
second number ?

nks la[;k,¡] rhljh la[;k ls Øe'k% 20% rFkk 50% vf/d
gS] rks igyh la[;k] nwljh la[;k dk fdrus izfr'kr gS ?

(a) 100% (b) 150%
(c) 80% (d) 120%

67. Two numbers are respectively 12½% and
25% more than a third number. The first
number is what percent of the second
number ?

nks la[;k,¡ rhljh la[;k ls Øe'k% 12½% rFkk 25% vf/
d gS] rks igyh la[;k] nwljh la[;k dk fdruk izfr'kr gS ?

(a) 50% (b) 60%
(c) 75% (d) 90%

68. If 60% of A's income is equal to 75% of B's
income, then B's income is equal to x% of
A's income. The value of x is ?

;fn A dh vk; dk 60%, B dh vk; ds 75% ds cjkcj
gS] rks B dh vk;] A dh vk; ds x% ds cjkcj gS] rks x
dk eku Kkr djsa ?

(a) 70 (b) 60
(c) 80 (d) 90

69. Two numbers are in the ratio 2 : 3. If 20% of
the smaller number added to 20, is equal to
the sum of 10% of the larger number and
25, then the smaller number is ?

nks la[;k,¡ 2 : 3 ds vuqikr esa gSA ;fn NksVh la[;k ds 20%

esa 20 tksM+k tkrk gS rks izkIr la[;k cM+h la[;k ds 10% ls
25 vf/d gS] rks NksVh la[;k Kkr djsa ?

(a) 100 (b) 160
(c) 180 (d) 200

70. Two number are respectively 20% and 50
more than a third number. Then the ratio of
the two numbers is ?

nks la[;k,¡] rhljh la[;k ls Øe'k% 20% rFkk 50% vf/d
gS] rks nksuksa la[;kvksa dk vuqikr Kkr djsa ?

(a) 2 : 5 (b) 3 : 5
(c) 4 : 5 (d) 6 : 7

71. 15% of 45% of a number is 105.3. What is
24% of that number ?

fdlh la[;k ds 45% dk 15%, 105.3 gSA ml la[;k dk
24% D;k gS ?
(a) 385.5 (b) 374.4
(c) 390 (d) 375

72. The monthly income of a person was Rs.
13,500 and his monthly expenditure was Rs.
9,000. Next year his income increased by
14% and his expenditure increased by 7%.
The percentage increase in his savings was ?

,d O;fDr dk ekfld osru :i;s 13,500 gS vkSj mldk
ekfld [kpZ :i;s 9,000 gSA vxys o"kZ mldk osru 14%

c<+ tkrk gS vkSj mldk [kpZ 7% c<+ tkrk gS] rks mldh
cpr esa izfr'kr o`f¼ Kkr djsa \
(a) 7% (b) 21%
(c) 28% (d) 35%

73. The difference of two numbers is 45% of their
sum. The ratio of the larger number to the
smaller number is ?

nks la[;kvksa dk varj muds ;ksx dk 45% gSA cM+h la[;k rFkk
NksVh la[;k dk vuqikr Kkr djsa ?
(a) 20 : 9 (b) 9 : 20
(c) 29 : 11 (d) 11 : 29
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74. A number of reduced by 25% becomes 225.
By what percent should it be increased so
that it becomes 375 ?

,d la[;k dks tc 25% ?kVk fn;k tkrk gS rks og la[;k
225 gks tkrh gSA bl la[;k esa fdrus izfr'kr dh o`f¼ dh
tk, fd og la[;k 375 gks tk, ?

(a) 25% (b) 30%
(c) 35% (d) 75%

75. Out of two numbers, 40% of the greater
number is equal to 60% of the smaller. If the
sum of the numbers is 150, then the greater
number is ?

nks la[;kvksa esa ls cM+h la[;k dk 40% NksVh la[;k ds 60%

ds cjkcj gSA ;fn la[;kvksa dk ;ksx 150 gS] rks cM+h la[;k
D;k gS ?

(a) 70 (b) 80
(c) 90 (d) 60

76. If A's height is 10% more than B's height, by
how much percent is B's height less than
that of A ?

A dh yEckbZ B ls 10% vf/d gS rks B dh yEckbZ A ls
fdrus izfr'kr de gS ?

(a) 10% (b) 10
1

9
%

(c) 10
1

11
%  (d) 9

1

11
%

77. Given that, 10% of A's income = 15% of B's
income = 20% of C's income. If sum of their
incomes is Rs. 7800, then B's income is ?

fn;k x;k gS] A dh vk; dk 10% = B dh vk; dk 15%

= C dh vk; dk 20% A ;fn rhuksa dh vk;ksa dk ;ksx :i;s
7800 gS] rks B dh vk; Kkr djsa ?

(a) Rs. 3699 (b) Rs. 3000
(c) Rs. 2400 (d) Rs. 1800

78. If three-fifth of sixty percent of a number is
36, the number is ?

,d la[;k ds 60% dk 
3

5
 Hkkx 36 gS] rks la[;k Kkr djsa ?

(a) 100 (b) 80
(c) 75 (d) 90

79. A's salary is 50% more, than that of B. How
much percent is B's salary less than of A ?

A dk osru] B ls 50% vf/d gS] rks B dk osru] A ls
fdruk de gS ?

(a) 50% (b) 33
1

3
%

(c) 45% (d) 66
2

3
%

80. If Nita's salary is 25 percent more than
Papiya's salary, then the percentage by
which Papiya's salary is less than Nita's
salary is ?

;fn uhrk dk osru] ifi;k ls 25% vf/d gS] rks ifi;k dk
osru uhrk ls fdruk izfr'kr de gS ?

(a) 15% (b) 20%
(c) 25% (d) 32%

81. X has twice as much money as that of Y and
Y has 50% more money than that of Z. If the
average money of all them is Rs. 110, then
the money, which X has is ?

X ds ikl Y ls nksxquk :i;k gS vkSj Y ds ikl Z ls 50%

vf/d :i;k gSA ;fn rhuksa ds :i;ksa dk vkSlr 110 gSA rks
X ds ikl fdrus :i;s gSa ?
(a) Rs. 55 (b) Rs. 60
(c) Rs. 90 (d) Rs. 180

82. If x earns 25% more than y. What percent
less does y earn than x ?

x, y ls 25% vf/d dekrk gS] rks y, x ls fdruk izfr'kr
de dekrk gS ?

(a) 16% (b) 10%
(c) 20% (d) 25%

83. Tulsiram's salary is 20% more than that of
Kashyap. If Tulsiram saves Rs. 720 which is
4% of his salary, then Kashyap's salary is ?

rqylhjke dk osru] d';i ls 20% vf/d gSA ;fn rqylhjke
720 :- dh cpr djrk gS] tks mlds osru dk 4% gS] rks
d';i dk osru Kkr djsa ?

(a) Rs. 15000 (b) Rs. 12000
(c) Rs. 10000 (d) Rs. 22000

84. Two numbers are less than a third number
by 30% and 37% respectively. The percent
by which the second number is less than
the first is ?

nks la[;k,¡] rhljh la[;k ls Øe'k% 30% rFkk 37% de gS]
rks nwljh la[;k] igyh la[;k ls fdrus izfr'kr de gS \
(a) 10% (b) 7%
(c) 4% (d) 3%

85. Mita's income is 25% more than that of Sita.
What percent is Sita's income less than that
of Mita ?

ehrk dh vk;] lhrk ls 25% vf/d gS] rks lhrk dh vk;]
ehrk ls fdrus izfr'kr de gS \
(a) 25% (b) 24%
(c) 22½% (d) 20%

86. If A's income is 25% less than B's income
then by what percent is B's income more
than that of A ?

;fn A dh vk;] B ls 25% de gS] rks B dh vk;] A ls
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fdrus izfr'kr vf/d gS \
(a) 25% (b) 30%

(c) 33
1

3
% (d) 66

2

3
%

87. A's salary is 40% of B's salary and B's salary
is 25% more than C's salary then C's salary
is how much percentage more than  A ?

A dk osru] B ds osru dk 40% gS rFkk B dk osru] C
ds osru ls 25% vf/d gS] rks C dk osru] A ls fdruk
izfr'kr vf/d gS ?
(a) 50% (b) 100%
(c) 150% (d) 200%

88. If A's income is 50% less than that of B's,
then B income is what percent more than
that of A ?

;fn A dh vk;] B ls 50% de gS] rks B dh vk;] A ls
fdruk izfr'kr vf/d gS \
(a) 125% (b) 100%
(c) 75% (d) 50%

89. A's salary is 25% more than B's salary then
B's salary is how much percent less than
A's salary ?

A dk osru] B ls 25% vf/d gS] rks B dk osru A ls
fdruk izfr'kr de gS \
(a) 20% (b) 24%
(c) 25% (d) 27.5%

90. If A exceeds B by 60% and B is less than C
by 20%, then A : C is ?

;fn A, B ls 60% vf/d gS vkSj B, C ls 20% de gS
rks A : C D;k gksxk \
(a) 32 : 25 (b) 25 : 32
(c) 8 : 5 (d) 4 : 5

91. In an examination, 93% of students passed
and 250 failed. The total number of students
appearing at the examination was ?

,d ijh{kk esa 93% Nk=k liQy gksrs gSa rFkk 259 Nk=k
vliQy gks tkrs gS] rks ijh{kk esa Nk=kksa dh dqy la[;k D;k
Fkh ?
(a) 3700 (b) 3850
(c) 3950 (d) 4200

92. If 24-carat gold is considered to be hundred
percent pure gold, then the percentage of
pure gold in 22-carat gold is ?

;fn 24 dSjsV lksus dks lkS izfr'kr 'kq¼ lksuk ekuk tkrk gS]
rks 22 dSjsV lksus esa] 'kq¼ lksus dk izfr'kr Kkr djsa \

(a) 91
3

4
% (b) 91

2

3
%

(c) 91
1

3
% (d) 90

2

3
%

93. If 30% of A is added to 40% of B, the answer
if 80% of B. What percentage of A is B ?

;fn A dk 30%, B ds 40% esa tksM+k tkrk gS] rks mÙkj B
dk 80% vkrk gS] rks A dk fdruk izfr'kr B gS \
(a) 30% (b) 40%
(c) 70% (d) 75%

94. First and second numbers are less than a
third number by 20% and 40% respectively.
The second number is less than the first by
?

igyh rFkk nwljh la[;k] rhljh la[;k ls Øe'k% 20% rFkk
40% de gS] rks nwljh la[;k] igyh la[;k ls fdruk izfr'kr
de gS \
(a) 7% (b) 4%

(c) 3% (d) 25%
95. One-third of a number is 96. What will 67%

of the number be ?

fdlh la[;k dk ,d&frgkbZ 96 gks rks ml la[;k dk 67%

D;k gksxk \
(a) 192.96 (b) 181.44
(c) 169.92 (d) 204.48

96. If x% of a is the same as y% of b, then z% of
b will be ?

;fn a dk x%, b ds y% ds cjkcj gS] rks b dk z% fdruk
gksxk \

(a) 
yz

x
% of a (b) 

zx

y
% of a

(c) 
xy

z
% of a (d) 

y

z
% of a

97. If y% of one hour is, 1 minute 12 seconds,
then y is equal to ?

1 ?kaVs dk y%, 1 feuV 12 lsds.M gS] rks y fdlds cjkcj
gS \
(a) 2 (b) 1
(c) ½ (d) ¼

98. A team played 40 games in a season and
won 24 of them. What percent of games
played did the team win ?

,d Vhe ,d l=k esa 40 xse [ksyrh gS vkSj 24 esa thr
gkfly djrh gS] rks Vhe dh thr dk izfr'kr D;k gS \
(a) 70% (b) 40%
(c) 60% (d) 35%

99. A number is divided into two parts in such a
way that 80% of 1st part is 3 more than 60%
of 2nd part and 80% of 2nd part is 6 more
than 90% of the 1st part. Then the number
is ?

,d la[;k dks nks Hkkxksa esa bl izdkj ck¡Vk tkrk gS fd igys
Hkkx dk 80% nwljs Hkkx ds 60% ls 3 vf/d gS] vkSj nwljs
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Hkkx dk 80% igys Hkkx ds 90% ls 6 vf/d gS] rks la[;k
D;k gS \
(a) 125 (b) 130
(c) 135 (d) 145

100. A number, on subtracting 15 from it reduces
to its 80%. What is 40% of the number ?

,d la[;k ls tc 15 ?kVk;k tkrk gS rks og ?kVdj 80%

gks tkrh gS] rks ml la[;k dk 40% fdruk gksxk ?
(a) 75 (b) 60
(c) 30 (d) Rs. 90

101. 498 is 17% less than a number then the
number is ?

fdlh la[;k dk 17% de djus ij 498 izkIr gksrk gS] rks
la[;k Kkr djsa \
(a) 610 (b) 580
(c) 600 (d) 620

102. Given A is 50% larger than C and B is 25%
larger than C, then A is what percent larger
than B ?

fn;k gS A, C ls 50% vf/d gS vkSj B, C ls 25% vf/
d gS] rks A, B ls fdruk izfr'kr vf/d gS \
(a) 25% (b) 50%
(c) 75% (d) 20%

103. What is to be added to 15% of 160 so that
the sum may be equal to 25% of 240 ?

160 ds 15% esa fdruk tksM+k tk, fd ;ksx 240 ds 25%

ds cjkcj gks \
(a) 24 (b) 84
(c) 60 (d) 36

104. A number when reduced by 10% gives 30 as
result. The number is ?

,d la[;k tc 10% ?kVk;h tkrh gS] rks ifj.kke 30 vkrk
gS] rks la[;k D;k gS \

(a) 32
1

2
(b) 33

1

3

(c) 40 (d) 35
105. If 15% of x is same as 20% of y then x : y is ?

x dk 15%, y ds 20% ds cjkcj gS] rks x : y D;k gS \
(a) 4 : 3 (b) 5 : 4
(c) 6 : 5 (d) 3 : 4

106. In an examination A got 25% marks more
than B. B got 10% less than C and C got
25% more than D. If D got 320 marks out of
500, the marks obtained by A were ?

,d ijh{kk esa] A dks B ls 25% vad vf/d izkIr gq,] B
dks C ls 10% de vad izkIr gq, vkSj C dks D ls 25%

vf/d izkIr gq,A ;fn D dks 500 esa ls 320 vad izkIr gq,
gksa] rks A dks fdrus vad izkIr gq, \
(a) 405 (b) 450

(c) 360 (d) 400
107. A number increased by 22½% gives 98 as

result. The number is ?

,d la[;k dks 22½% c<+k;k tkrk gS] rks og 98 gks tkrh
gS] rks la[;k D;k gS \
(a) 45 (b) 18
(c) 80 (d) 81

108. When 75 is added to 75% of a number, the
answer is the number. Find 40% of that
number ?

,d la[;k ds 75% esa tc 75 tksM+k tkrk gS] rks izkIr
ifj.kke mlh la[;k ds cjkcj gksrk gS] rks ml la[;k dk 40%

Kkr djsa \
(a) 100 (b) 80
(c) 120 (d) 160

109. The number that is to be added to 10% of
320 to have the sum as 30% of 230 is ?

320 ds 10% esa fdruk tksM+k tk, fd ifj.kke 230 ds
30% ds cjkcj gks tk, \
(a) 37 (b) 32
(c) 23 (d) 73

110. If X is 20% less than Y, then find the value

of 
Y X

Y


 and  

X

X Y
 ?

;fn X, Y ls 20% de gS] rks 
Y X

Y


 vkSj 

X

X Y
 dk eku

Kkr djsa \

(a) 
1

, 4
5

 (b) 
1

5,
4



(c) 
2 5

,
5 2

 (d) 
3 3

,
5 5



111. In a village 30% of the population is literate.
If the total population of the village is 6,600,
then the number of literate is ?

,d xk¡o esa 30% yksx lk{kj gSA ;fn xk¡o dh dqy tula[;k
6,600 gS] rks lk{kjksa dh dqy la[;k D;k gS \
(a) 1980 (b) 4620
(c) 2200 (d) 3280

112. If A's salary is 50% more than that of B, that
B's salary is less than A's by ?

;fn A dk osru] B ls 50% vf/d gS] rks B dk osru A
ls fdruk izfr'kr de gS \

(a) 33% (b) 40
1

3
%

(c) 44
1

3
% (d) 33

1

3
%

113. Two numbers A and B are such that the sum
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of 5% of A and 4% of B is 
2

3
rd of the sum of

6% of A and 8% of B. The ratio A : B is ?

nks la[;k,¡ A rFkk B bl izdkj gS fd A ds 5% rFkk B ds

4% dk ;ksx] A ds 6% vkSj B ds 8% ds ;ksx dk 
2

3
 gS]

rks A : B dk vuqikr D;k gksxk \
(a) 4 : 3 (b) 3 : 4
(c) 1 : 1 (d) 2 : 3

114. A number is increased by x%; to get back to
the original number, it is to be reduced by ?

,d la[;k dks x% c<+k fn;k x;kA vkjafHkd la[;k izkIr djus
ds fy, bls fdruk izfr'kr ?kVkuk gksxk \

(a) 
10x

10 x
% (b) 

100x

10 x
%

(c) x% (d) 
x

100 x
%

115. One-fifth of half of a number is 20. Then 20%
of that number is ?

fdlh la[;k ds vk/s dk ik¡pok¡ fgLlk 20 gSA rks ml la[;k
dk 20% gS ?
(a) 80 (b) 60
(c) 20 (d) 40

116. 83
1

3
% of Rs. 90 is equal to 60% of ?

:i;s 90 dk 83
1

3
% fdrus :i;s ds 60% ds cjkcj gS ?

(a) Rs. 122 (b) Rs. 125
(c) Rs. 123 (d) Rs. 124

117. 51% of a whole number is 714. 25% of that
number is ?

fdlh iw.kk±d dk 51% gS 714, rks ml la[;k dk 25% D;k
gksxk ?
(a) 250 (b) 350
(c) 450 (d) 550

118. Price of sugar rises by 20%. By how much
percent should the consumption of sugar be
reduced so that the expenditure does not
change ?

phuh ds ewY;ksa esa 20% dh o`f¼ gks tkrh gS] rks phuh dh
[kir dks fdruk izfr'kr de djuk gksxk rkfd phuh ij [kpZ
vifjofrZr jgs ?
(a) 20% (b) 10%

(c) 16
2

3
% (d) 15%

119. What percent decrease in salaries would
exactly cancel out the 20 percent increase ?

osru esa fdrus izfr'kr dh deh 20% òf¼ dks izHkkoghu dj
nsxh ?

(a) 20% (b) 16
2

3
%

(c) 33
1

3
% (d) 18%

120. If food prices go up by 10%, by how much
should a man reduce his consumption so
as not to increase his expenditure ?

;fn Hkkstu ds ewY; esa 10% o`f¼ gks tkrh gS] rks ,d O;fDr
viuh [kir esa fdrus izfr'kr dh dVkSrh djs fd [kpZ u c<+s
?

(a) 9
1

11
%

(b) 10%

(c) 9
2

11
%

(d) The data is not sufficient
121. The price of an article is decreased by 10%.

To restore its former value the new price
must be increased by ?

fdlh oLrq ds ewY; esa 10% dh deh vk tkrh gS] rks igys
ds ewY; dks cuk, j[kus ds fy, u;s ewY; esa fdrus izfdr'kr
dh o`f¼ djuh gksxh ?
(a) 10% (b) 11%

(c) 11
1

8
% (d) 11

1

9
%

122. In the new budget, the price of kerosense oil
rose by 25%. By how much percent must a
person reduce his consumption of kerosene
oil so that his expenditure on it does not
increase ?

u;s ctV esa dsjkslhu rsy dk ewY; 25% c<+ tkrk gSA ,d
O;fDr dks viuh [kir esa fdrus izfr'kr dh dVkSrh djuh
gksxh fd dsjkslhu ij dqy [kpZ vifjofrZr jgs ?
(a) 20% (b) 25%
(c) 50% (d) 40%

123. Salary of a person is first increased by 20%,
then it is decreased by 20%. Then the
percentage change in his salary is ?

,d O;fDr dk osru igys 20% c<+k fn;k tkrk gS] fiQj
20% ?kVk fn;k tkrk gS] rks mlds osru esa fdrus izfr'kr dk
ifjorZu gqvk ?
(a) 4% decreased (b) 8% increased
(c) 8% decreased (d) 20% increased

124. A number is increased by 20% and then it
is decreased by 10%. Find the net increase
or decrease percent ?
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,d la[;k dks igys 20% c<+k;k tkrk gS vkSj fiQj 10%

?kVk;k tkrk gS] rks izfr'kr deh ;k o`f¼ Kkr djsa ?
(a) 10% increase (b) 10% decrease
(c) 8% increase (d) 8% decrease

125. The tax is imposed on an article is decreased
by 10% and its consumption is increased by
10%. Find the percentage change in revenue
from it ?

fdlh oLrq ij yxk, x, dj esa 10% dh deh gks tkrh gS
vkSj bldh [kir 10% c<+ tkrh gS] rks bl oLrq ls gksus okyh
vk; esa izfr'kr ifjorZu Kkr djsa ?

(a) 10% increase (b) 2% decrease
(c) 1% decrease (d) 11% increase

126. The price of an article was increased two
times successively by 10% each time. By
what percent should the new price be
reduced so as to restore the original price ?

,d oLrq dh dher esa yxkrkj nks ckj 10% dh Øekxr
o`f¼ dh xbZA iqu% oLrq dh vkjafHkd dher izkIr djus ds
fy, c<+h gqbZ dher esa fdrus izfr'kr dh deh djuh gksxh
?
(a) 15% (b) 17.36%
(c) 17% (d) 16.36%

127. If price of a book is first decreased by 25%
and then increased by 20%, the net change
in the price of the book will be ?

;fn fdlh fdrkc dk ewY; igys 25% ?kVk;k tkrk gS vkSj
fiQj 20% c<+k fn;k tkrk gS] rks fdrkc dh dher esa fdruk
okLrfod ifjorZu vk;sxk ?
(a) 10% decrease (b) 5% decrease
(c) No change (d) 5% increase

128. A number is increased by 10% and then it
is decreased by 10%. The net change in the
number is ?

,d la[;k esa 10% dh òf¼ dh tkrh gS vkSj fiQj mls 10%

?kVk fn;k tkrk gS] rks la[;k esa fdruk varj vk,xk ?
(a) 2% decrease (b) 1% increase
(c) 2% increase (d) 1% decrease

129. A worker suffers a 20% cut in his wage. He
may regain his original wages by obtaining
a rise of how much % ?

,d etnwj dh etnwjh esa 20% dh dVkSrh dj nh tkrh gS]
mls igys ds cjkcj etnwjh feys mlds fy;s mls fdrus
izfr'kr o`f¼ dh vko';drk gksxh ?
(a) 27.5% (b) 25.0%
(c) 22.5% (d) 20.0%

130. The salary of a person was reduced by 10%.
By what percent should his reduced salary
be raised so as to bring it to with his original
salary ?

,d O;fDr ds osru esa 10% dh deh gks tkrh gS] mls izkIr
osru esa fdrus izfr'kr dh o`f¼ dh tk, fd mls igys ds
cjkcj osru izkIr gks ?

(a) 9% (b) 11
1

9
%

(c) 9
1

11
% (d) 11%

131. A number is increased by 20% and then
again by 20%. By what percent should the
increased number be reduced so as to get
back the original number ?

,d la[;k dks igys 20% c<+k;k tkrk gS vkSj fiQj 20%

vkSj c<+k;k tkrk gSA c<+kbZ xbZ la[;k dks fdrus izfr'kr ?kVk;k
tk, fd vkjafHkd la[;k izkIr gks tk, ?

(a) 30
5

9
% (b) 19

11

31
%

(c) 40% (d) 44%
132. The number of employees working in a firm

is increased by 25% and the wages per head
are decreased by 25%. If it result in x%
decrease in total wages, then the value of x
is ?

;fn fdlh daiuh esa etnwjksa dh la[;k 25% c<+k nh tkrh gS
rFkk izfr O;fDr etnwjh esa 25% deh dj nh tkrh gSA
ifj.kker% etnwjh esa x% dh fxjkoV vk tkrh gS] rks x dk
eku Kkr djks ?
(a) 0% (b) 25%

(c) 20% (d) 
25

4
%

133. The price of an article was increased by r%.
Later the new price was decreased by r%. If
the latest price was Re. 1, then the original
price was ?

fdlh oLrq ds ewY; esa r% dh o`f¼ dj nh xbZA ckn esa u;s
ewY; esa iqu% r% dh deh dj nh xbZA ;fn vc oLrq dk ewY;
:i;s 1 gS] rks oLrq dk vkjafHkd ewY; D;k Fkk ?

(a) Re. 1 (b) Rs. 
21 r

100



(c) Rs. 
21 r

100


(d) Rs. 2

10000

10000 r

 
  

 

134. The price of petrol is increased by 25%. By
how much percent a car owner should reduce
his consumption of petrol so that the
expenditure on petrol would not be increased
?

isVªksy ds ewY; esa 25% dh o`f¼ gks x;hA ,d dkj ekfyd
dks viuh [kir fdrus izfr'kr de dj djuh gksxh rkfd
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isVªksy ij [kpZ iwoZor jgs ?
(a) 25% (b) 30%
(c) 50% (d) 20%

135. A number is first decreased by 10% and then
increased by 10%. The number so obtained
is 50 less than the original number. The
original number is ?

,d la[;k dks igys 10% ?kVk;k tkrk gS vkSj fiQj 10%

c<+k fn;k tkrk gS] rks izkIr la[;k] okLrfod la[;k ls 50 de
gS] rks okLrfod la[;k Kkr djsa ?
(a) 5900 (b) 5000
(c) 5500 (d) 5050

136. The Government reduced the price of sugar
by 10 percent. By this a consumer can by
6.2 kg more sugar for Rs. 837. The reduced
price per kg of sugar is ?

ljdkj us phuh ds ewY; dks 10% ?kVk fn;kA blds dkj.k
,d xzkgd :i;s 837 esa 6.2 fdxzk- phuh vf/d [kjhn
ldrk gS] rks deh ds i'pkr~ izfr fdxzk- phuh dk ewY; D;k
gS ?
(a) Rs. 12.50 (b) Rs. 13.00
(c) Rs.  13.50 (d) Rs. 14.00

137. The price of sugar is increased by 20%. If
the expenditure on sugar has to be kept the
same as earlier, the ratio between the
reduction in consumption and the original
consumption is ?

phuh ds nkeksa esa 20% o`f¼ gks tkrh gSA ;fn phuh ij [kpZ
dks iwoZor j[kuk gS rks dVkSrh ds ckn [kir esa deh rFkk
vkjafHkd [kir dk vuqikr Kkr djsa ?
(a) 1 : 3 (b) 1 : 4
(c) 1 : 6 (d) 1 : 5

138. If the price of a commodity is decreased by
20% and its consumption is increased by
20%, what will be the increase or decrease
in the expenditure on the commodity ?

,d oLrq dh dher 20% de gks tkrh gS rFkk bldh [kir
20% c<+ tkrh gS] rks oLrq ij [kpZ esa fdrus izfr'kr dh
deh ;k o`f¼ gksxh ?
(a) 4% increase (b) 4% decrease
(c) 8% decrease (d) 8% increase

139. The price of a certain item is increased by
15%. If a consumer wants to keep his
expenditure on the item the same as before,
how much percent must he reduce his
consumption of that item ?

fdlh oLrq dh dher esa 15% òf¼ gks tkrh gS] xzkgd vius
[kpZ dks iwoZor% j[kuk pkgrk gS] rks mls viuh [kir esa
fdrus izfr'kr dh dVkSrh djuh gksxh ?

(a) 15% (b) 13
1

23
%

(c) 16
2

3
% (d) 10

20

23
%

140. If the price of petrol be raised by 20%, then
the percentage by which a car owner must
reduce his consumption so as not to increase
his expenditure on petrol is ?

;fn isVªksy dh dher esa 20% dh o`f¼ gks tkrh gS] rks ,d
dkj ekfyd dks viuh [kir esa fdrus izfr'kr dh dVkSrh
djuh gksxh rkfd mldk [kpZ iwoZor~ jgs ?

(a) 16
1

3
% (b) 16

2

3
%

(c) 15
2

3
% (d) 15

1

3
%

141. A number is first increased by 10% and then
it is further increased by 20%. The original
number is increased altogether by ?

,d la[;k igys 10% c<+k;h tkrh gS vkSj fiQj 20% c<+k;h
tkrh gS rks vkjafHkd la[;k esa dqy fdrus izfr'kr dh o`f¼
gqbZ ?
(a) 30% (b) 15%
(c) 32% (d) 36%

142. The length of a rectangle is increased by 10%
and breadth decreased by 10%. Then the
area of the new rectangle is ?

,d vk;r dh yEckbZ 10% c<+k;h xbZ rFkk pkSM+kbZ 10%

?kVk;h xbZ rks u;s vk;r dk {ks=kiQy D;k gksxk ?
(a) neither decreased nor increased
(b) increased by 1%
(c) decreased by 1%
(d) decreased by 10%

143. B got 20% marks less than A. What percent
marks did A got more than B ?

B dks A ls 20% de vad izkIr gq,] rks A dks B ls fdrus
izfr'kr vf/d vad izkIr gq, ?

(a) 20% (b) 25%
(c) 12% (d) 80%

144. Bhuvnesh salary was reduced by 10% and
then the reduced salary was increased by
10%. His new salary in comparison with his
original salary is ?

Hkqous'k dk osru 10% ?kVk fn;k x;k] fiQj ?kVk;k x;k osru
10% c<+k fn;k x;k] rks mldk u;k osru iqjkus osru dh
rqyuk esa D;k gS ?
(a) the same (b) 1% more
(c) 1% less (d) 5% less
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145. If the price of a commodity is increased by
50%, by what fraction must its consumption
be reduced so as to keep the same
expenditure on its consumption ?

;fn fdlh oLrq dh dher 50% c<+ tkrh gS] rks [kir dk
fdruk Hkkx de djuk gksxk rkfd [kpZ iwoZor~ jgs ?

(a) 
1

4
(b) 

1

3

(c) 
1

2
(d) 

2

3

146. If the duty on an article is reduced by 40%
of its present rate by how much percent its
consumption increase in order that the
revenue remains unaltered ?

fdlh oLrq ij 'kqYd mlds orZeku ewY; dk 40% de dj
fn;k tkrk gS] rks bldh [kir dks fdrus izfr'kr c<+k;k tk;s
rkfd mlls izkIr vk; iwoZor~ jgs ?

(a) 60% (b) 62
1

3
%

(c) 72% (d) 66
2

3
%

147. If the price of sugar is raised by 25%, find by
how much percent a house holder must
reduce his consumption of sugar so as not
to increase his expenditure ?

;fn phuh dk ewY; 25% c<+ tkrk gS rks ,d O;fDr dks
viuh [kir esa fdrus izfr'kr dh dVkSrh djuh gksxh rkfd
[kpZ iwoZor~ jgs  ?
(a) 10% (b) 20%
(c) 18% (d) 25%

148. The price of an article is reduced by 25%
but the daily sale of the article is increased
by 30%. The net effect on the daily sale
receipt is ?

fdlh oLrq dh dher 25% ?kV tkrh gS ysfdu izfrfnu
mldh fcØh 30% c<+rh gSA rks izfrfnu dh vk; ij D;k
varj gksxk ?
(a) 2½ increase (b) 2½ decrease
(c) 2% increase (d) 2% decrease

149. The price of sugar is reduced by 20%. Now a
person can buy 500 gram more sugar for Rs.
36. The original price of the sugar per
kilogram was ?

phuh dh dher esa 20% dh deh gks tkrh gS] rks ,d O;fDr
vc 36 :i;s esa 500 xzke phuh vf/d [kjhn ldrk gS] rks
izfr fdxzk- phuh dh vkjafHkd dher D;k Fkh ?
(a) Rs. 14.40 (b) Rs. 18.00
(c) Rs. 15.60 (d) Rs. 16.50

150. The salary of a person is decreased by 25%
and then the decreased salary is increased
by 25%. His new salary i comparison with
his original salary is ?

,d O;fDr dk osru 25% de dj fn;k tkrk gS vkSj fiQj
?kVk;s x, osru dks iqu% 25% c<+k fn;k tkrk gS rks vkjafHkd
osru dh rqyuk esa mldk u;k osru D;k gS ?
(a) the same (b) 6.25% more
(c) 6.25% less (d) 0.625% less
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11. (c) 12. (c) 13. (d) 14. (a) 15. (b) 16. (a) 17. (b) 18. (d) 19. (d) 20. (b)
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